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QUESTION 1

Refer to the exhibit Which two statements about this managed object are true? (Choose two) 

A. This object is part of the concrete model. 

B. There are endpoints with encapsulation vlan-2230 in the EPG name "web-server" on node 101. 

C. This object is part of the resolved model. 

D. This object is part of the logical model 

E. This object represents an FPG named "web server" in tenant Prod. 

Correct Answer: BC 

 

QUESTION 2

Refer to the exhibit 
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F16438[FSM:STAGE:FAILED]: Establish connection Stage: comp/prov-VMware/ ctrlr-[RTPACILab]-TestVcenter Failed
to retrieve ServiceContent from the vCenter server 10.122.253.152(FSMSTAGE:ifc:vmmmgr:CompCtrlrAdd:Connect) 

Which option is a potential reason why you would see this output while provisioning a DVS? 

A. The specified data center does not exist on the vCenter m question. 

B. The Cisco APIC(s) cannot reach the vCenter host/vm. 

C. The Service Content process has crashed. 

D. Cisco Discovery Protocol is disabled on the vswitch policy tied to the corresponding AAEP. 

Correct Answer: A 

 

QUESTION 3

Which MO name represents a physical domain? 

A. RtDomP 

B. PhysDomP 

C. physDomP 

D. InfraRtDomP 

Correct Answer: C 

 

QUESTION 4

Which two statements are true regarding Tenant Bridge Domain ARP forwarding modes? (Choose two.) 

A. ARP flooding occurs only within the encapsulation VLANs. 

B. ACI Fabric can team up to a million end points if ARP flooding is not configured. 

C. ARP handing is enabled by default which means unicast routing is used to forward the ARP packet. 

D. ARP handling is disabled by default which means unicast routing is used to forward the ARP packet 

E. ARP flooding must be configured if internal hosts are using an external IP gateway 

Correct Answer: AE 
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QUESTION 5

Where does the subnet address of the distributed gateway need to be configured when route leaking is required? 

A. under the contract provider EPG 

B. under the contract consumer EPG 

C. in a shared bridge domain in the tenant common 

D. in the endpoint bridge domain 

Correct Answer: D 
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